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Q)lfa?=b+c, b*=c+a,c*=a+ b, then the value of
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Q)Ifa?—by—cz=0, ax—b*+ cz=0and ax + by —c* =0, then
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Q)Ifa?—by—cz=0, ax—b*+ cz=0and ax + by —c* =0, then
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Q)Ifx+y+z=11.x°+y° +z2=133and x° +3°+23 = 881, then
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Q)Ifx+y+z=11.x°+y° +z2=133and x° +3°+23 = 881, then
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the value of A/ XV= 1s:
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Ans: (a)
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Q)If o and p are the roots of the equation x* — 6x + 6 = 0,
what is o + B> + o + B> + o + B equal to?
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Q)If o and p are the roots of the equation x* — 6x + 6 = 0,
what is o + B> + o + B> + o + B equal to?

(a) 150 (b) 138
(c) 138 () 124

Ans: (b)
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Q)Ifx1x2x3 =4(4 +x, +x,+x;), then what 1s the value of
[1/(2+x)] +[1/2 +x,)] + [1/(2 +x5)]?

@) 1 b) 12 (c) 2 d) 13
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Q)Ifx1x2x3 =4(4 +x, +x,+x;), then what 1s the value of
[1/(2+x)] +[1/2 +x,)] + [1/(2 +x5)]?

@) 1 b) 12 (c) 2 d 13

Ans: (b)
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QIfP=7+ 4\/5 and PO = 1, then what is the value of
1/P*+1/0%

@ 196  (b) 194 © 206 (d) 182
P= 7 +43 9:-]9[—27—"96
|
Y9 /g (!Zuam) f"
" 1= gt = (345
d%/crence = P



CDS 1 2025 LIVE CLASS - MATHS - PART 5

QIfP=7+ 4\/5 and PO = 1, then what is the value of
1/P?+1/0%?
(@ 196 (b) 194 () 206 (d) 182

Ans: (b)
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Q)Ifx +y +z=0, then what is the value of (3y? + x% +z%)/ (%1;2
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Q)Ifx +y+z=0, then what is the value of (3% + x* +2%)/(2)?
—x2)?

@) 2 b) 1 © 32 (@ 53

Ans: (a)
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Q)If a2 + b2 + 2 + 96 = 8(a + b —2¢), then ab—bc+ca is
equal to:
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Q)If a2 + b2 + 2 + 96 =8(a + b —2¢), then ab—bc+ca is
equal to:

@ 6 (b) 242 ) 4 @ 2.3

Ans: (c)
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Q)1f \/ SG—GO\E = qa - b\E , then what will be the value

) .
of \/ a’ +b° , correct to one decimal place?
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Q)1f \/ SG—GO\E = a - b\E , then what will be the value

) .
of \/ a’ +b° , correct to one decimal place?

@ 84  (b) 82 © 78 (@) 72

Ans: (c)
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Q)Ifx=11.thevalueof x° — I2x*+ 12x° — 12x* + 12x — 1 18

(a) 11 (b) 10 (c) 12 (d) —10
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Q)Ifx=11.thevalueof x° — I2x*+ 12x° — 12x* + 12x — 1 18

(a) 11 (b) 10 (c) 12 (d) —10

Ans: (b)
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Q)If a +E=b+g= C+E (wherea = b =c), then abcisequal to

(@) +1 (b) -1
(c) +l1&-1 (d) None of the options
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1 1 1
Q)If a +E=b+g= C+g (wherea = b =c), then abc 1sequal to

(@) +1 (b) -1
(c) +l1&-1 (d) None of the options

Ans: (c)
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Q)If x_.3-2=0 and };—\/5+\/§:0 then value of

X —2082)— (37 +242)
@ 3 (b) 2 © 0 d 1
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Q)If x_.3-2=0 and };—\/5+\/§:0 then value of

X —2082)— (37 +242)
@ 3 (b) 2 © 0 d 1

Ans: (c)
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Q)Ifa+ b+ ¢+ d=4then the value of
| . |
(=) (1-b)(1—<) (1-b)(1-c)(1-d)

1 |
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(a) 0 (b) 1 (c) 4 (d) 1+abed
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Q)Ifa+ b+ ¢+ d=4then the value of
| . |
(=) (1-b)(1—<) (1-b)(1-c)(1-d)
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(a) 0 (b) 1 (c) 4 (d) 1+abed

Ans: (a)
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Q)If (x° —y3) (a2 +;x,j:+y2) =5:1 and

(x* - f) :(x—y)=7:1, then the ratio 2x : 3y equals

@ 2:3 (b) 4:1 (¢) 4:3 (d) 3:2
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Q)If (»° —_]13)  (x? +;Jgf+y2) =5:1 and

(x* - f) :(x—y)=7:1, then the ratio 2x : 3y equals

@ 2:3 (b) 4:1 (¢) 4:3 (d) 3:2

Ans: (b)
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Q)If X, v, z are the three factors of a> — 7a — 6, then value of
x+y+zwillbe

(@) 3a (b) 3 (¢c) 6 (d) a
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Q)If X, v, z are the three factors of a> — 7a — 6, then value of
x+y+zwillbe

(@) 3a (b) 3 (¢c) 6 (d) a

Ans: (a)
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QIf x=a? +a7V2, y= g2 g2

(< =x*y* =D+ —x*y* +1)

, then value of

(@) 16 b) 14 © 12 @ 13
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QIf x=a? +a7V2, y= g2 g2

(< =x*y* =D+ —x*y* +1)

, then value of

(@) 16 b) 14 © 12 @ 13

Ans: (a)
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Q) Ifq + b= 1, find the value of &’ +b° —ab —(a* —b*)*

(@ 0 (b) 1 © -1 @ 2
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Q) Ifq + b= 1, find the value of &’ +b° —ab —(a* —b*)*

(@ 0 (b) 1 © -1 @ 2

Ans: (a)
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Q)If (Bx—-2y):(2x+3y)=5:6, then one of value of

L
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Q)If (Bx—-2y):(2x+3y)=5:6, then one of value of

L
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Ans: (a)
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